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22 -13, -8, -2 for “Tac(P)” read “Tac(B)”
22 -12 for “Tac(B)” read “Tac(P)”
23 6 for “Tac(B)” read “Tac(P)”
23 18 for “Tac(P)” read “Tac(B)”
53 -2 for “13” read “14”
86 2 for “W⊥

C (Z) = BiZ
i” read “WC⊥(Z) =

∑
i BiZ

i”
86 7 for “W⊥

C (Z)” read “WC⊥(Z)”
91 -7 for “0 ≤ k” read “0 < k”

214 13 This exercise is not correct. Words of weight q + 4 may exist.
274 17 for “p” read “p|(q + 1)”
286 5, 4 move “4232

D to line 4, replace “3242
D ” by “3242

C ”
290 8 for “D” read “D1”
304 16, 18 for “

√
(n3 − 2n2 − 1)/2” read “1

2(1 +
√

(2n3 − 6n2 + 9))”
304 20 for “

√
(23m − 22m+1 − 1)/2” read “1

2(1 +
√

(23m+1 − 22m+13 + 9))”
311 21 In the last line of the proof, before the final sentence, insert:

“If p divides m− 1 and does not divide m + 1 then summing all the
blocks shows that  ∈ Cp(I). Further, summing all the blocks through
any two distinct points x and y, gives a vector with entry m + 1 at x
and y and 1 elsewhere. Since m + 1 ≡ 2 (mod p), this implies that
v{x} + v{y} ∈ Cp(I). Taking a third point z gives v{x} − v{y}, and hence
v{x}, in Cp(I) for any x, since p 6= 2.”

321 [62]: read “Z.”
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